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Al A5 Aa7:
x— (1= 6x)(6x— 1)(4x—3) (4x— 6)(5x° —x— 6)— Bx — 6)(5x — 1)
6x— (3+x)(dx+ 1)(2x— 5) 4x— (6+ 20)(2x + 6)(x— 1)
Gx+ 5)( — 6x+2)+ (6x — 1)(x + 1) 6x— (1—3x)(2x — 2)3x + 1)
(6x + 5)(4x — 4)(4x — 3) (dx+ 5)(6x% — dx + 4) + (4x + D)(dx + 1)
(5x + 4)(5x° + 5x + 4) + (5x — 3)(x + 3) (6x— 5)(5x + 1)(x — 3)
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ZAi: B(C5: AA7:
x— (1 —6x)(6x— 1)(4x—3) (4x — 6)(5x2 —x—6)—Bx—6)5x— 1)
144x° — 156x% + 41x— 3 20x° — 49x% + 15x + 30
6x— 3+ x)(4x+ 1)(2x—5) 4x— (6+ 2x)(2x + 6)(x— 1)
—8x° — 6x* + 65x + 15 —4x° — 20x% — 8x + 36
Bx+ 5)(x2 —6x+2)+(6x—1)(x+ 1) 6x— (1 —-3x)(2x—2)3x+ 1)
3 — 72— 19x+ 9 18x° — 18x% + 4x + 2
(6x + 5)(4x — 4)(4x — 3) (4x + 5)(6x° — dx + 4) + (4x + 1)(4x + 1)
96x° — 88x° — 68x + 60 24x3 + 3002 + 4x + 21
(5x + 4)(5)62 +5x+ 4)+ (5x — 3)(x + 3) (6x—5)(5x+ 1)(x—3)
25x° + 5002 + 52x + 7 30x° — 109x° + 52x + 15
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